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Graphing Trigonometric Function

Turn on the calculator, Now press the Mode
key and make sure al! of the following is

highlighted.
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Now that you have all of the items highlighted press the Window key and set to these values:

WINDOW
Xmin=-m
Xmax=2n
Xscl=m /2
Ymin=-5
Ymax=5
Yscl=1
Ares=1
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Now press the 2 key and then the Zoom button
to get into the Format window and make sure
all of the following is highlighted.

Okay, Let's grapn! Fress tne y = Key on tne 1op 1ern row ot the caicuiator. If there

is anything on the :y
key. Your screen should lo

ok like this:
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Now press Sin X
to graph y = sin x and
. press the Graph key.

Now you are going to grap
Remember we are looking

graphs so that we will be able to sketch the

calculator.

y=2sinXx

You should get this - |

= just move the cursor to the line and depress the Clear
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h some trig functions and record your pictures.

for patterns or

y=3sinx

y=4sinXx

characteristics common among these
se graphs without using & graphing
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sinx or.5sinx .
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What observations can you make looking at these gréphs in relatib‘ﬁ with y = sin x

The height of the graph changes or there's a vertical
stretch. We call this the Amplitude of the graph.

Now graph the following:,

y =sin 2x ) : T y=sin 4x
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y=sin 8x . ] y=sin .5
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What observations can you make looking at these graphs in relation with y = sin x
' There was a horizontal shrink for the #s greater than 1 and a horizontal

stretch for the numbers greater than 1. We call this the period of the
function, TT defermines-how long one cycle of the graph is.

Graph these functions
y=sinx+2 y=sinx-3 Y= smx+1

A e e e T
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What do you observe for these gr'aphs? | -

These graphs shift up(+) or down(-). We call this the vertical
shift.
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Graph these functjons:

Y=sin(x+%} y = Sin (x—%) . V=Si.'”(x*%l
y = sin .(x —.%f—) y = sin (x+ &) y =sin (x - Z)

What observations can you make looking at these graphs in relation with y = sin x
These graphs shift left(+) and right(-). We call this the phase shift of

the graph. For example, the first one would have a -pi/2 phase shift or it

would ShifT 1efT pi7Z.
Graph v =—sin x

What is your observation:
The negative in front, causes the

graph to reflect over the x-axis.

Now 'Grabh'fﬁa Cosine Curve.
y = COS X Yy =— COS§ X

= S RENERE
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What is the difference in the two above graphs
The negative in front, causes the

graph to reflect over the x-axis.
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Using the relationships you observed with the sin curve, sketch the following
cosine curves and then enter them into you graphing calculator.

y =2 COS X y = COS 2X y=CoSX+3

'y=.-:-3cos.x. - y = COS 4x y=cosX—1

A Ao
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Now try to sketch these first and then check on your calculator

y=2sinx+ 2 y = 3cos 2x y = =3sin X

VavIvVINIRER
A DAL A

Y=COS%X-1 y:sin(x—;,—J]r y=cos(x+%)
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Challenge Probiems: Sketch first and then check with the calculator

y = 2sin (x + 'g] 3 y = 38in ('2x + 73—‘) " This graph will
- probably not match

your sketch. What
‘happened? -

Now your teacher will go over some definitions of the following terms.

Amplitude -
|A| represents the Amplitude of the curve. This is the height from

the x-axis to the peak (or valley).
Period - (T) : 9

The length of the curve before it repeats itself. Find this by doing: 7 =%
_ @

Shift-up or Shift-down
Controlled by the k value (what's added or subtracted outside the ( )).

Up if it's positive and down if it's negative.
Phase-Shift-

Controlled by what's inside the (). Shift right if it's subtraction and

left if it's addition. You shift a distance of (]
| @



